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MATH _____ Statistics Confidence Interval Worksheet Name

STEP 0: (a) Type of problem (circle the line or part therein)

1- pop | 2 pop for proportion (z-table)
1- pop | 2 pop for means (t-table)

(b) Assumptions (state the general and justify your application’s)
I —————
I

STEP 1: Compute the point estimate
STEP 2: (a) State the Confidence Level:
(b) Find the corresponding critical value from the tables
row column

critical value (circleone): z t =

STEP 3: Compute the standard error.

-a - - A s 2 2
(@) Formula SE: /.ER /_Eﬁi L] —— ’El 532
n ny ny \/r; n, n

3
Sk

SE Value =
STEP 4: Compute the Margin of Error = critical value * SE
ME = * =
STEP 5: Construct the Confidence Interval: point estimate = ME
- < < +

STEP 6: Interpret the results



